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your answer

At the beginning of the story, Dave finished his chores later than usual
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"'"You've heard of germs, Mr. Sexton, haven't you?' says
Professor Herbert. 'Jist call me Luster, if you don't mind,' says

Pa, very casual-like."
How has the relationship between Pa and the Professor changed at

this point in the story? Give information from the story to support

your answer.

a.

NOTE: For this question use ONE of the thinking skills from the
Thinking skill I chOS€: ......cocuiiiiiiiiiiiiiiiiceceeccee

Appendix (navy) on page 15.

(10 points)

b. Explain why you chose that particular skill to answer question 9a.

(5 points)

Your answer must refer specifically to the text.

At the end of the story, "Pa... told Mom he was going to take
her and show her a germ sometime." How has Pa's perspective

a.

10.

of the world changed by the end of the story?

(8 points)

How has Pa's experience at the school changed his relationship

b.

with his son? Give information from the story to support your

answer.

(7 points)
/6 Tmya qwnn/

\._\/. . \
PR N Y4
\ =N \'
IS

>

N
- -

OB S TNCAL Y

MLINININE,

SIS

\\'\' Yy ¢\<I‘\f}l\\'
NIVl
N

LT Y M WA LLITA R WA

~ \\'I\'/\/ VLAY ARN
lnl\\nl = v‘I\\MI W
LsANSN e IV NSV Y
ST AY

1%

AROXCENTIV A

/qun_z GCULT TNILL L A
S\SASR

A\

ST

QAN
\ <9 l/

g

ST

~ N
\Illﬂlrwl )
75"

4

"I\i\ d'/

/

\\ ~ V
17NN

=, 0 T\ -

'~ -
)
{ R oS

P AS T - -
N/~ | I\/II WY
>\=/)

N

Y \
—'/ ‘\"4’/

> =\
D

JAYARY
IINN\T =

721 S\
2=/

N
-
-, e\ el

I
g

IKYARS

=, 0 T\ -

N W
X
(5N )

t/u,n»vwrmnwmw\.w“v
= | V' S\N
OIS

-

VT N\
XY A7)

=, 0 T\ -




- - -y = -y = - > p = -~ AN SR G I T RN A A MR I I [y

— — — — -— -— -— N AN G N R G 2 R MG 7{~ /’\\’\ 22, NN Z/
D P A RS G I SR ICIY I R S 3G AN RN SIS T IOEA —sl'\/\'/\\ \YITZAY
Vg & o -— NV, Y __ - N0, S0 EARMED Y [£S /l N=ls \\'/ NN S \/’/\I l, \l'\\\'/\\ —sl'\/\'/\\ —sl\l/ /Il\\ GAARS /\/
l/l. /\UI“\ \A“\/ \|/l /\\I“\ \/\\'/\ \\/l //\\\IW\—“/\\'/\A\/ /\\\IW\—“/\M\'/\A\I//I\\IN—“\IV\A“ //I\\ N\\\—Am\ \l/“ //I\I/\\ “A/l\l\l/ “ /”\I/\/\“AV\/[‘N\\V”I//\I/\\//‘ I\/Vl”l”/\l\/\ y I\/\l/\l\//l\/\'//\l/ .\—/\I“//II\\\V/\II.

N I\ =\~Y SRA AR A AR D AT\~ SANSAV I NN ZN NS 2N N2 TV I NS=7 757\ S S AL AN
AR /\\%\\//a = RSSO /\\v../\W/,z\/\t//\ \ 1\\,/\1\/,1\(&/\///\\4/\ u/,z/\‘\w/\////\\.l.\u, /\A\w/\z///\..\mnl\ah A///\..\\VMVA\\A/\/\ .w\rNMV,M\\' < .w\r\//y.nw\\'ow// ARSI AR
SSRIANZS, IS VS YA I Vo YA IS =Y AN S [y =V > =\ NGNS - %
Yy >\ .V”.IIA\\\I/I s—\wl.lldl\\rll\l\s 7 /\I/rln.zl\vrl\l\s PICAS rl\l/l PR \/\/Ill QPRI TNV TN
AN ORNEANOR : A\ Z 2 2

) - -

)~ AT SIS kv PAYES S mh - PAY SIS \ o PAYE T \ S \’\I“\— Yooy ANL ] - . <y e\
\ \ [] N [] [] .Y [] _ (] VNS f.\\\d \/’\I =
N\ \ \ N “MJD. 2l Q mlo)dﬁduﬁ N N N /N SN N 2
7/ 7/ 7 5 ! f Y 2,1 ~ tL) rd rd rd

N\ -~ N\ -~ N\ -~ N\ -~ N\ -~ = =\ -~ =\ ’/,\
A0S et NV SN — -— -t SO =l NSO P NV SN = NV NS e e N/ - a|‘4l\—-l\ Ir/'s/—-I\ N e ]
C< C< C< C< '\ N - ~ . OEEE TR TS N\ -~ L -~ \\ )
\S7. \I W\ \/: W\ \/: V ” \/—. > INVE =~3 18 X \u \\l~_ ~lr1\/.\” .\xlhdl/l\/.\” IS
v_: W\ N\\! \\ RSV A Sy NS \\ T 1= lr/\/l\\ \\\J_ NI \/I\\ AN x\zl.\\. A N T L A AN ST AP O AT L AN AN ST LA
- P— AN W I — .V S -
“/. XA \p;.\\'sm\s,r\ll.\p;.\\'sm\s,./\ll.\p..\'s.\s,./\ll->;.\'~.\~,./\ll- A Y KN < / < / < / < / < / < / <

. ——
: 1w 3R
) = . “t,b
z E 5 oo o 3 : tE B3
: g 255 Ean
o) 2 o m ” n
- 5 S :2:% ¢ Y
=T 7o) ~ O 2 8 W : 1T oz 8
L T ~ = a = g : : R F
R ) 2 E s z m g
n 2 S z § % S | .
1dp _|u.t = : .Kl..
— ng.hnua OM.IV.N Z : ...
N S £ o g g8z g " o
8] .Uhn Shm o : 2
W 2 e yL.l..I. thl : .n
S = 52 < 5 & :
. = o 2 8 : = 5 % £ S
Ne ~ R_er.lm. T "MH £ : g
_ 2 d < 0 N - m g
£ Z y = £ £ = E kel :
tR - = = nhl I° u
5 > g g = = < :
3 O g » © S 2z Am.s : m
a = g 8 < ® 5 g S ; : m
= 2 % 5 s 2§ = 2 i & |
%0 eth . [72) o= yrh = :
M(S w‘VnAaW %) o dw aVO..S m :
A= 8 5 § Z 2 2 = 2 :
& 3 e 2 = :
WIMHMWn. = 2 5 2 = S o 5 &) :
< ~ ) e.ros = 2 2 m
g8 S ES 2 EZ5 8 % 2 < =2z ¢ "
DR(Mde.l.JWW.I = = = B e.my 2]
ﬂAQrmmemehm Z 8= 3 2 2 E ez m
n,P(msfmmmwa . & g £ £ = 8 E ¢ % m
C ﬂﬁl aooe o S 2 Wna
en et = < L o B o 5 .
1 fitfzazis 225 B3z &
‘D~ S S & 0 «u 2 = B 5 - < k
g v = = -~ O ©c © o & < emO.J
2 Mwm.ﬂompvvwmw 3 2 g & & G.mgm.‘mrﬁ
g =0 Q S 3 E o o o o 5 Iede
Q = 5 £ & = = ~ cmmhwth
D Sthp A =% n\}\.U/m.N BkW.P.awaA
N 575 % fc28E8EE Sfc2EE
3 c =z N .
= anl — —
(=] = <€ << -
: =
D W
8 2 .
cl < QO




. . .~ . : o~ . . M - S~
o () HE : 8 : ] > ] ) I
g = < R P g : = 2 = a Q
) : : ) : 12 < : ) D
Z o m : . . S . : N L : R n -
v o B : : R T : Do : Fs n
s S o I o 32 X P = . - a
= 8 @ A I R Z B> A : A b a
8 - @ : . -7 = - H : W : a
Q O = : : : = o : : X c
= s = = R = : Qo c N
o~ 5 > =2 : : Q = : s : ) @©
5 £ F ¢ P = 2 i o h
S - o & o : : = : ) : ..M
O = oo k= : : 22> o) :
s o v, o @ = : = 3
5] - = -~ . . < . .
., 8 2 F = = I =S s k3
- T g = : : = : = :
~ 2 = 2 3 = : : ~ D : 2 : r
' = ° & L HE £ 0 : w o
§ © = 2 = P £ g =l a
. . +— . .
= 2 2 9 e : : e : = : 2
= S 5 g ° Pl s 8 O 2
s = B 5 P 5 L T -
< . Q : :
> Z : : 28 : : 5
< B 2 : : = 172} : E3 : n
32 8 Z = O I E =2 Qo i Z
4 5 g O = 9 v i & 8 > —
~ = @ — o |2 J— . H < $— . ) -« .
n = 2 @ > =] : : & o : M 5 :
g < & 803 s & i s =z a 28
] M W — ©] < .. H (0] 72] : —_ .
D c 8 8 £ 2 & g g g : 1ZR
Q @a b= b5 4 : : < :
I O =S o L = o : = = : o~ :
A > e =2 < 5 & = o 5 : 5
[ =8 o o S —~ O : = O : = :
Jf2gs 232 2 = o
A o 5 3 g . € a = ~ « : =
9 bgz25TE 3 BN 2
g g 22 8 2 £ x & CRAn - &
)| L o = » ~ .= 80 [} o
s es0 2z o8 £ d s § o 5 o
< - 9 8 K g 2 = = =2 =2 S =
L 5 =5 8 & = & 2 [=E ) b 17 n m |75)
1 & s 5 E 3 o & £ a2 o
Q =~ o O =9 7 o = Z < 5 4 S Z
b € = 0O »Z < K < H T < O <
N~
o & = S
O
o < v
+ A o
M|
D
Q
c
\\'Q' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ ’1‘\\\' Y 1,‘ N/
R N N By S Y L Ny I Y Ny TN Y i SN SR 7 Sy L SN S
 S\NSNV= i NS SN \\:_ ZOS AN L WS L ICAN | W ZSES XY \\.:\\Iz,\/ \\.:\\Iz,\/ \\.:\\Iz,\/ i\ % = :\\Iz,\/ \\.:\\Iz,\/ \\.:\

g _\u\u«hz.%nw,. IRINSET OGN GCULT TNUIIL LU ZNIGIEIINIAI IS ICTZ2INK | o5 € e Ty IV IIIN M
\/I/“Irl/\ \\s I\/I/“lrl/\ \\s I\/Ia“ﬂ.r/¢\¢\- \I\l/a“ﬂ..l/#“ Y Ia“ﬂ.ﬁ/ /. \\s I\/I/“Irl/ /. \\s I\/I/“Irl/ /. \\s I\/I/“Irl/ /. \\s«/\/ a\\ﬂhula\“ \I\/If\\ﬂnl/%“ PN “rl/ Il S\ “rl/ /=0~
,\'llr'\— PN \'\/r'\— PN \'\/r'\— PN \'\/r'\— P4 l//'\— PN \'\/r'\— PN \"//’\— PN \"//’\— PN \"//’\— PN \"//’\— P YAy
AN o A N AT ST T A N A ST O A N A S O N N A S O\ N A S O\ N A S O N N A S O\ N A S VNP AS S O WNZAS S WNZA S S
R A A A I N Ay N I I A Ny
- - - - - - - - - - - -
AR R A Y A S A I A I T K AR S AR A S A AR S A AR I WK

Y% Y%
‘\"’-f'—' AT I AT AL By V‘\"’pf'-‘ AT

\/ L] —\\/ A / \\l ! —\\/ \//V\“V /. hl ! —\\\”\\/ /V \/l\ hl ! —\\\I\\/ = \\ LIV T /)
ISIDAST (DA ST M A ST M IS T =




VNI g ' T YA 7™ YA T YA T YA T YA M T YA P T Y A P T Y A M T Yl A M T Yl A M T Yl A T
N ST AN A Ny A Ny A Ny T A Ny A Ny T L ANy Y AN Y T ANy ¥ o AN e ANy 9 s A
) ==\ ol =\’ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\ =\~ —l\\

ATACAAY VALZAY VALZAY VALZAY VALZAY VAALZAY VAALZAY VAALZAY VAALZAY VAALZAY VAALZAY VAALZAY
. N3 N 2, N3 N 2, N3 S 7, N3 N 2, N3 N 2, N3 S 2, N3 S 2, N3 S 2, N3 S 2, N3 S 2, N3 S 2, N3 N Lo

I/\/// () /I/I/\/// () /I/I/\/// () /I/I/\/// () /I/I/\/// () /Il//\/// () /Il//\/// () /Il//\/// () /Il//\/// () /Il//\/// =, /Il//\/// =, /I/I/ N

N o N o N o N o N o N o N o N o N o N o N o Wm0 o
S =y =\ \NS LA \NS LA \NS LA \NS LA \NS LA \NS =)=\ \NS =)=\ \NS =)=\ \NS =)=\ \NS =)=\ \NS =)=\ \N
‘I\/\'///III\/—\I\/\l///IIv/ L4 \/.Ir W=\ 2 2 2NN rl/\/—\l\/\l///III\/—\I\/\l///III\/—\I\/\l///III\/—\I\/\l//IrI'/ P2 INN =\ 7 2 /\\ =\ \I\/\'//IIII\/—\I\/\l//IIII\/—\’
B\ AL 2 AN N> Tam mlAJ LAl inarsas I\\.\-;\a \I—AI\’I\\.\\; NS .\_;\a NI .\_;\a\\laﬂ. N ¢C LT TNLILL L 5 \I—AI\’I\\.\-;\a \I—AI\’I\\.

P, — -, -, -, \ -, -, -, -, -, -, -,

IRUESAXIS AR U - I N A S A AN S A e AS SN A AR P N R R Y A e AN A e S
S S o 3 S R S e S S I s N N N S N S N N N S NS IS ]
1> ANINTL 2=y 20X NINTLI 2y 20X \NINTU 2=y 02 NINTUI 2=y 00 ANINTUL 2y 00 NINTULI 2y 00 \NINTUI 2=y 20 NINTU 2y 20X \INTUI 2=y 20 \INTUL 2y 0 \INTU 2=y 0 NI NTN =1 7 4

(8 points)
(5 points)
(5 points)

/9 Twmya qwnin/

(.N37 THIYa 19-18 MYNY 125 DIW)

g Laurie did to fight against The Wave.

How is Joe mistaken in his view of either Larry or Chris? Give

information from the play to support your answer.

don't make a team." How does David want The Wave to help the team

win games?

b.
17. David says about the football team that "A bunch of... individuals

Answer questions 16-18 and either question 19 OR question 20.

THE WAVE / Morton Rhue
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16. Give ONE thin

OR:
D.




says, "I can still teach them a lesson... I can teach them a

lesson they will never forget."

NOTE: For this question use ONE of the thinking skills from the
Thinking skill I chOS€: ......cocerviiriiriiiiieeeceee

What is the lesson the students learn from the way Ben ends the
Appendix (nav3) on page 15.

experiment?

(10 points)

b. Explain why you chose that particular thinking skill to answer

(5 points)

question 19a. Your answer must refer specifically to the text.
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"'Class,' Ben announced. 'l want everyone to see how Robert's legs
what he's doing and, as far as I'm concerned, what he's doing is for

At the beginning of the experiment, Laurie says, "He [Ben] knows
What causes Laurie to later change her mind about the experiment?

Give information from the story to support your answer.

the class's good."

are parallel... That's very good, Robert.'" What do you think were

Ben's motives for praising Robert? Give TWO answers.

b.

NODY + 016117 '01,7”YWN 9NN, MIDD TPINNR
20. a.
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PART III (30 points)

Answer the question for either (21) Rules of the Game OR (22) The Enemy.

Suggested length: 80-100 words.

21.

RULES OF THE GAME / Amy Tan

Amy Tan describes how she grew up trying to please a mother who could not be
pleased. Tan explained that her mother had a suitable saying for every occasion and
she was always telling her daughter to work hard and behave in the correct way. —

Adapted from an article in the University of Buffalo Reporter

Make a connection between the above description and the story. Support your

answer with information from the story.

THE ENEMY / Pearl S. Buck

"I... am interested in people and their growth. My interest leads me to increase
my knowledge of people, and this makes me believe in the common goodness of
mankind. I believe that the normal human heart is born good. It neither wishes to

be killed, nor to kill." — Pearl Buck in a radio broadcast in 1951

Make a connection between the above quote and the story. Support your answer

with information from the story.
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Use this page and the next (pages 12-13) for writing a rough draft.
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Write your final version here:
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APPENDIX TO PARTS I and II
(23w P95 PYUNI PI9Y NOD))

Thinking Skills
(P2PUn »NWY))

e Comparing and contrasting

o Distinguishing different perspectives
o Explaining cause and effect

e Problem solving

e Inferring

o Explaining patterns





